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2AM: M2
HFH: NRES(Mo) (LY /ALY - WEXA)
©e: BEEXE (chel & 9l)
SA-BY- B (SH) - MBANEY - BES Ol &t ol o RS2
Ml 2 2t 5,181,415 3,681,415 1,500,000
MEES (M) (Lt SHY/NLSHE - WX ) 4,500,000 3,000,000 1,500,000
SM8XE 4,500,000 3,000,000 1,500,000
BHEXE 4,500,000 3,000,000 1,500,000
802 Bt 2 DI EL 4,500,000 3,000,000 1,500,000
01 =2 NEXZ6te 32 3,200,000 2,000,000 1,200,000
o=1n8x3re3a 3,200,000,000& 3,200,000 2,000,000 1,200,000
02 Al - THIEXSEE= 1,300,000 1,000,000 300,000
OZHEXZEES 1,300,000,000& 1,300,000 1,000,000 300,000




